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1. ��-�/ %�$��&�$�%&��� $���'�� �$��$���/  
''����� ��%&�����/ 

��.05 -���&$�&�%���� � -���&$����� 
 

1.1. �5?4EFL ?D<<5=5=<O D45>G5= ?D>7D4<<O 
$45>G4O ?D>7D4<<4 GG55=>= 4<EF<??<=O O6?O5FEO >5O74F5?L=>= G4EFLN 

>5D47>64F5?L=>= ?D>7D4<<O 6 E>>F65FEF6<< E $��% ?> E?5F<4?L=>EF< %��  
23.02.01 �D74=<74F<O ?5D56>7>> < G?D46?5=<5 =4 FD4=E?>DF5 (?> 6<44<). 

 
1.2. �5EF> GG55=>= 4<EF<??<=O 6 EFDG>FGD5 >5D47>64F5?L=>= ?D>7D4<<O  

'G55=4O 4<EF<??<=4 «-?5>FD>F5E=<>4 < M?5>FD>=<>4» O6?O5FEO G4EFLN 
>5M5?D>D5EE<>=4?L=>7> F<>?4 >5D47>64F5?L=>= ?D>7D4<<O. 

�E>5>5 7=4G5=<5 4<EF<??<=4 <<55F ?D< D>D<<D>64=<< < D476<F<< �� 
1, �� 2, �� 4. 
 
1.3. &5?< < ??4=<DG5<O5 D57G?LF4FO >E6>5=<O GG55=>= 4<EF<??<=O: 

'G55=4O 4<EF<??<=4 «-?5>FD>F5E=<>4 < M?5>FD>=<>4» >55E?5G<645F 
D>D<<D>64=<5 M?5<5=F>6 ?D>D5EE<>=4?L=OE < >5M<E >><?5F5=F<= ?> 6<44< 
45OF5?L=>EF< $��% %��, 4 F4>65 ?<G=>EF=OE D57G?LF4F>6. 

� D57G?LF4F5 >E6>5=<O 4<EF<??<=O >5GG4NM<=EO >E64<645F M?5<5=FO 
>5M<E >><?5F5=F<= (��): 

�� 01. �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 
45OF5?L=>EF< ?D<<5=<F5?L=> > D47?<G=O< >>=F5>EF4<. 

�� 02. �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < 
<=F5D?D5F4F<< <=D>D<4F<<, < <=D>D<4F<>==O5 F5E=>?>7<< 4?O 6O?>?=5=<O 
7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF<. 

�� 04. -DD5>F<6=> 674<<>45=EF6>64FL < D45>F4FL 6 >>??5>F<65 < 
>><4=45. 

�5D5G5=L ?D>D5EE<>=4?L=OE >><?5F5=F<= (��), M?5<5=FO >>F>DOE 
D>D<<DGNFEO 6 D4<>4E 4<EF<??<=O:  

�� 2.3 �?D545?OFL < 4=4?<7<D>64FL 6O?>?=5=<5 ?>>474F5?5= 
M>E??G4F4F<>==>= D45>FO. 

� D4<>4E ?D>7D4<<O GG55=>= 4<EF<??<=O >5GG4NM<<<EO >E64<64NFEO 
E?54GNM<5 G<5=<O < 7=4=<O. 

�>4 
��, �� 

'<5=<O �=4=<O 

�� 1 
��2  
�� 4 
�� 2.3 
 
 

'<5FL: 
- 6O5<D4FL M?5>FD<G5E><5,  
M?5>FD>==O5 ?D<5>DO <  
M?5>FD>>5>DG4>64=<5;  
- ?D46<?L=> M>E??G4F<D>64FL 
M?5>FD>>5>DG4>64=<5 < 
<5E4=<7<O ?5D544G< 
46<65=<O F5E=>?>7<G5E><E 
<4L<= < 4??4D4F>6;  
- ?D><76>4<FL D4EG5FO 

�=4FL: 
- >?4EE<D<>4F<N M?5>FD>==OE ?D<5>D>6,  <E 
GEFD>=EF6> < >5?4EFL ?D<<5=5=<O;  
- <5F>4O D4EG5F4 < <7<5D5=<O >E=>6=OE 
?4D4<5FD>6 M?5>FD<G5E><E F5?5=;  
 - >E=>6=O5 74>>=O M?5>FD>F5E=<><;  
 - >E=>6=O5 ?D46<?4 M>E??G4F4F<< 
M?5>FD>>5>DG4>64=<O < <5F>4O 
<7<5D5=<O M?5>FD<G5E><E 65?<G<=; 
- >E=>6O F5>D<< M?5>FD<G5E><E <4L<=, 
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?D>EFOE M?5>FD<G5E><E 
F5?5=;  
- D4EEG<FO64FL 
?4D4<5FDOD47?<G=OE 
M?5>FD<G5E><E F5?5= < EE5<;  
- E=<<4FL ?>>474=<O < 
?>?L7>64FLEO 
M?5>FD><7<5D<F5?L=O<< 
?D<5>D4<< < 
?D<E?>E>5?5=<O<<;  
 

?D<=F<? D45>FO F<?>6OE M?5>FD<G5E><E 
GEFD>=EF6;  
- ?4D4<5FDO M?5>FD<G5E><E EE5< < 54<=<FO 
<E <7<5D5=<O;  
- ?D<=F<? 6O5>D4 M?5>FD<G5E><E < 
M?5>FD>==OE ?D<5>D>6;  
- ?D<=F<?O E>EF46?5=<O ?D>EFOE 
M?5>FD<G5E><E < M?5>FD>==OE F5?5=;  
- E?>E>5O ?>?GG5=<O, ?5D544G< < 
<E?>?L7>64=<O M?5>FD<G5E>>= M=5D7<<;  
- GEFD>=EF6>, ?D<=F<? 45=EF6<O < >E=>6=O5 
E4D4>F5D<EF<>< M?5>FD>F5E=<G5E><E 
?D<5>D>6;  
- >E=>6O D<7<G5E><E ?D>F5EE>6 6 
?D>6>4=<>4E, ?>?G?D>6>4=<>4E < 
4<M?5>FD<>4E;  
- E4D4>F5D<EF<>< < ?4D4<5FDO 
M?5>FD<G5E><E < <47=<F=OE ?>?5=, 
?4D4<5FDO D47?<G=OE M?5>FD<G5E><E F5?5=. 

 
2. %&$'�&'$� � %���$����� ''����� ��%&�����/ 

2.1. �5N5< GG55=>= 4<EF<??<=O < 6<4O GG55=>= D45>FO 
 

�<4 GG55=>= D45>FO �5N5< G4E>6 

�5N5< >5D47>64F5?L=>= ?D>7D4<<O GG55=>= 4<EF<??<=O 125 

�5O74F5?L=4O 4G4<F>D=4O GG55=4O =47DG7>4 (6E57>) 125 

6 F. G. 6 D>D<5 ?D4>F<G5E>>= ?>47>F>6>< 64 

6 F>< G<E?5, 

F5>D5F<G5E>>5 >5GG5=<5 55 

�D4>F<G5E><5/?45>D4F>D=O5 74=OF<O 36/28 

%4<>EF>OF5?L=4O D45>F4 6 

�D><56GF>G=4O 4FF5EF4F<O 6 D>D<5  �<D. 74G5F4 
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2.2. &5<4F<G5E><= ??4= < E>45D64=<5 GG55=>= 4<EF<??<=O  
 

�4<<5=>64=<5 
D4745?>6 < F5< 

%>45D64=<5 GG55=>7> <4F5D<4?4 < D>D<O >D74=<74F<< 45OF5?L=>EF< >5GG4NM<EEO 

�5N5<, 4>. G /  
6 F>< G<E?5  

6 D>D<5 
?D4>F<G5E>>= 

?>47>F>6><, 4>. 
G 

�>4O 
>><?5F5=F<=  
< ?<G=>EF=OE 
D57G?LF4F>6, 
D>D<<D>64=<

N >>F>DOE 
E?>E>5EF6G5F 

M?5<5=F 
?D>7D4<<O 

1 2 3 4 

$4745? 1. &5>D<O M?5>FD<G5E><E F5?5= 28/18  
&5<4 1.1 
-?5>FD<G5E>>5 ?>?5 

%>45D64=<5 GG55=>7> <4F5D<4?4 8/4 �� 1 
��2  
�� 4 
�� 2.3 
 

 

-?5>FD<G5E>>5 ?>?5 < 57> >E=>6=O5 E4D4>F5D<EF<><. �4>>= �G?>=4. -?5>FD<G5E>4O 
?>EF>O==4O. �4?DO65==>EFL M?5>FD<G5E>>7> ?>?O. �D4D<G5E>>5 <7>5D465=<5. �>F5=F<4?, 
=4?DO65=<5. %6O7L ?>F5=F<4?4 E =4?DO65=<5<. -?5>FD<G5E>>5 ?>?5 6 4<M?5>FD<>5. 
-?5>FD<G5E><= ?D>5>= < M?5>FD<G5E>4O ?D>G=>EFL 4<M?5>FD<>4. -?5>FD<G5E>4O 5<>>EFL. 
�<>>EFL ??>E>>7> >>=45=E4F>D4. %>54<=5=<5 >>=45=E4F>D>6. -=5D7<O 74DO65==>7> 
>>=45=E4F>D4, ??>F=>EFL M=5D7<<. $4EG5F M?5>FD>EF4F<G5E><E F5?5=. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�D4>F<G5E>>5 74=OF<5 7 1. $4EG5F M?5>FD<G5E><E F5?5= ?D< ?>E?54>64F5?L=><, 
?4D4??5?L=>< < E<5L4==>< E>54<=5=<< >>=45=E4F>D>6. 

4 

&5<4 1.2 
-?5>FD<G5E><5 F5?< 
?>EF>O==>7> F>>4 

%>45D64=<5 GG55=>7> <4F5D<4?4 20/14 �� 1 
��2  
�� 4 
�� 2.3 
 

 

-?5<5=FO M?5>FD<G5E>>= F5?< < <E >?4EE<D<>4F<<. -?5>FD<G5E><= F>>: 65?<G<=4, 
=4?D46?5=<5. -?5>FD>?D>6>4=>EFL < E>?D>F<6?5=<5, ??>F=>EFL F>>4. �4>>= �<4. 
-?5>FD>46<6GM4O E<?4, <>M=>EFL < >>MDD<F<5=F ?>?57=>7> 45=EF6<O <EF>G=<>4 
M?5>FD<G5E>>= M=5D7<<. �D5>5D47>64=<5 M?5>FD<G5E>>= M=5D7<< 6 4DG7<5 M=5D7<<. �4>>= 
�6>G?O-�5=F4. �4?4=E <>M=>EF< 6 M?5>FD<G5E><E F5?OE.   $56<< M?5>FD<G5E><E F5?5=, 
D45>F4 <EF>G=<>4 M?5>FD<G5E>>= M=5D7<< =4 ?D<5<=<>. �EF>G=<> F>>4 < -.�.%.  �>=OF<5 > 
?4EE<6=OE < 4>F<6=OE M?5<5=F4E M?5>FD<G5E>>= M=5D7<<. 

6 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 14 
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�D4>F<G5E>>5 74=OF<5 72. &D5=<D>6>G=O5 G?D46=5=<O 6 E5>D>5 M?5>FD<G5E><E EE5<. 
�E?>?L7>64=<5 F65F>6>= >>4<D>6>< 4?O >?D545?5=<O 7=4G5=<O E>?D>F<6?5=<=. �O5>D 
M?5>FD><7<5D<F5?L=>= 4??4D4FGDO 4?O 7444==OE GE?>6<= D45>FO. 

4 

�45>D4F>D=>5 74=OF<5 71. �EE?54>64=<5 D56<<>6 D45>FO 6 M?5>FD<G5E><E F5?OE. 2 

�D4>F<G5E>>5 74=OF<5 73. �5D4765F6?5==4O F5?L ?>EF>O==>7> F>>4, ?>EFD>5=<5 
?>F5=F<4?L=>= 4<47D4<<O. 

2 

�D4>F<G5E>>5 74=OF<5 74. �>E?54>64F5?L=>5, ?4D4??5?L=>5, E<5L4==>5 E>54<=5=<5 
E>?D>F<6?5=<=. �>EFD>5=<5 ��%. 

2 

�D4>F<G5E>>5 74=OF<5 7 5. $4EG5F F5?< ?>EF>O==>7> F>>4 D47?<G=O<< <5F>44<<. 4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
$5L5=<5 7444G =4 >?D545?5=<5 >E=>6=OE 65?<G<= F5?5= ?>EF>O==>7> F>>4 

 
4 

$4745? 2. &5>D<O M?5>FD><47=<F=>7> ?>?O 58/30  

&5<4 2.1 
-?5>FD><47=5F<7< 

%>45D64=<5 GG55=>7> <4F5D<4?4 6/2 �� 1 
��2  
�� 4 
�� 2.3 
 

 

�47=<F=>5 ?>?5 < 57> E4D4>F5D<EF<><. �4>>= �<?5D4. �47=<F=4O <=4G>F<O. �D<<5=5=<5 
74>>=4 �<?5D4 4?O D4EG5F4 <47=<F=>= <=4G>F<<. �47=<F=O= ?>F>>, ?>F>>>EF5??5=<5. 
�=4G>F<6=>EFL E>5EF65==4O < 674<<=4O. �47=<F=O5 E6>=EF64 65M5EF64. �47=<F=O5 
<4F5D<4?O.  �4<47=<G<64=<5 < =4<47=<G5==>EFL. $5DD<FO.  �4?DO65==>EFL <47=<F=>7> 
?>?O, <47=<F=4O ?D>=<F45<>EFL 65M5EF64. �47=<F=4O F5?L < 55 D4EG5F. �4>>= ?>?=>7> F>>4 
< ?D<<5=5=<5. -=5D7<O <47=<F=>7> ?>?O >4FGL>< E F>>><. -?5>FD><47=<F. %<?4 
674<<>45=EF6<O 46GE ?4D4??5?L=OE ?D>6>4=<>>6 E F>>4<<. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 2 

�45>D4F>D=>5 74=OF<5 72. �EE?54>64=<5 >4=>D>4=>= =5D4765F6?5==>= <47=<F=>= F5?< 2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
$5L5=<5 7444G =4 >?D545?5=<5 ?4D4<5FD>6 <47=<F=OE F5?5= 

 
2 

 

&5<4 2.2 
-?5>FD<G5E><5 
>4=>D47=O5 F5?< 
?5D5<5==>7> F>>4 

%>45D64=<5 GG55=>7> <4F5D<4?4 6/2 �� 1 
��2  
�� 4 
�� 2.3 
 

 

�5D5<5==O= F>>. �>?GG5=<5 E<=GE><44?L=>= -.�.%. �D<=F<? 45=EF6<O 75=5D4F>D4 
?5D5<5==>7> F>>4. 'D46=5=<O, 7D4D<><, E4D4>F5D<EF<>< ?5D5<5==>7> E<=GE><44?L=>7> 
F>>4.  �5=EF6GNM4O < ED54=OO 65?<G<=4 E<=GE><44?L=>7> F>>4, =4?DO65=<O < -.�.%. 
�4D4<5FDO M?5>FD<G5E>>= F5?<.  
&5?L E<=GE><44?L=>7> F>>4 E 4>F<6=O< E>?D>F<6?5=<5<, <=4G>F<6=>EFLN, 5<>>EFLN. 
�4?DO65=<5, F>>, <>M=>EFL, =4G4?L=4O D474, 65>F>D=4O 4<47D4<<. $4EG5F =5D4765F6?5==>= 

4 
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F5?< ?5D5<5==>7> F>>4 4>F<6=O< E>?D>F<6?5=<5<, <=4G>F<6=>EFLN, 5<>>EFLN ?D< 
D47?<G=OE E>>F=>L5=<OE D54>F<6=OE 65?<G<=. &D5G7>?L=<>< =4?DO65=<=, 
E>?D>F<6?5=<=, <>M=>EF5=.  
$4EG5F F5?< ?5D5<5==>7> F>>4 E 46G<O G7?4<< E 4>F<6=O< E>?D>F<6?5=<5<, 
<=4G>F<6=>EFLN, 5<>>EFLN ?D< D47?<G=OE E>>F=>L5=<OE 65?<G<= D54>F<6=OE 
?D>6>4<<>EF5=. &D5G7>?L=<>< F>>>6, ?D>6>4<<>EF5=, <>M=>EF5=. $4EG5F F5?< 
?5D5<5==>7> F>>4 <5F>4>< ?D>6>4<<>EF5=. �>MDD<F<5=F <>M=>EF<. 
� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 2 

�45>D4F>D=>5 74=OF<5 73. �EE?54>64=<5 D56<<>6 D45>FO =5D4765F6?5==OE F5?5= 
?5D5<5==>7> F>>4. $57>=4=E F>>>6 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.3 
&D5ED47=O5 
M?5>FD<G5E><5 F5?< 

%>45D64=<5 GG55=>7> <4F5D<4?4 12/8 

%>54<=5=<5 >5<>F>> FD5ED47=OE <EF>G=<>>6 M?5>FD<G5E>>= M=5D7<< 76574>= < 
FD5G7>?L=<>><. &D5E?D>6>4=O5 < G5FOD5E?D>6>4=O5 FD5ED47=O5 M?5>FD<G5E><5 F5?<. 
$47=O5 < ?<=5==O5 =4?DO65=<O, D47=O5 < ?<=5==O5 F>><, E>>F=>L5=<O <564G =<<<. 
%<<<5FD<G=O5 < =5E<<<5FD<G=O5 FD5ED47=O5 M?5>FD<G5E><5 F5?<. �5=FD4?L=O= 
(=G?56>=) ?D>6>4 < 57> =47=4G5=<5. �5>F>D=4O 4<47D4<<4 =4?DO65=<= < F>>>6. �5D544G4 
M=5D7<< ?> FD5ED47=>= ?<=<<. 
�>M=>EFL FD5ED47=>= M?5>FD<G5E>>= F5?< ?D< D47?<G=OE E>54<=5=<OE =47DG7><. $4EG5F 
E<<<5FD<G=>= FD5ED47=>= M?5>FD<G5E>>= F5?< ?D< E>54<=5=<< =47DG7>< 76574>= < 
FD5G7>?L=<>><. 

4 �� 1 
��2  
�� 4 
�� 2.3 
 
 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 8 

�45>D4F>D=>5 74=OF<5 74. �EE?54>64=<5 FD5ED47=>= G5FOD5E?D>6>4=>= M?5>FD<G5E>>= 
F5?< E<=GE><44?L=>7> F>>4. 

2 

�45>D4F>D=>5 74=OF<5 75. �EE?54>64=<5 D56<<>6 D45>FO FD5ED47=>= F5?< ?D< 
E>54<=5=<< ?D<5<=<>>6 "FD5G7>?L=<>><". 

2 

�D4>F<G5E>>5 74=OF<5 7 6. $4EG5F FD5ED47=OE F5?5= ?5D5<5==>7> F>>4. 4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.4 
-?5>FD<G5E><5 
<7<5D5=<O 

%>45D64=<5 GG55=>7> <4F5D<4?4 12/8 

�E=>6=O5 ?>=OF<O, ?>7D5L=>EF< <7<5D5=<=. �?4EEO F>G=>EF< <7<5D<F5?L=OE ?D<5>D>6. 4 �� 1 
��2  
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�?4EE<D<>4F<O M?5>FD><7<5D<F5?L=OE ?D<5>D>6. �7<5D<F5?L=O5 <5E4=<7<O �7<5D5=<5 
F>>4, =4?DO65=<O, <>M=>EF<, M?5>FD<G5E>>= M=5D7<<, E>?D>F<6?5=<O. 

�� 4 
�� 2.3 
 
 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 8 

�D4>F<G5E>>5 74=OF<5 77. �E?>?L7>64=<5 F<DD>6>7> <G?LF<<5FD4 6 >4G5EF65 
4<?5D<5FD4, 6>?LF<5FD4, ><<5FD4. �D>65D>4 <7<5D<F5?L=>7> ?D<5>D4. 

4 

�D4>F<G5E>>5 74=OF<5 78. $4EG5F 45E>?NF=>=, >F=>E<F5?L=>= < ?D<6545==>= 
?>7D5L=>EF< ?>7D5L=>EF5= ?D< ?DO<OE < >>E65==OE <5F>44E <7<5D5=<=. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.5 
&D4=ED>D<4F>DO 

%>45D64=<5 GG55=>7> <4F5D<4?4 6/4 �� 1 
��2  
�� 4 
�� 2.3 
 

 

�47=4G5=<5, ?D<=F<? 45=EF6<O < GEFD>=EF6> >4=>D47=>7> FD4=ED>D<4F>D4. 
$56<<O D45>FO FD4=ED>D<4F>D4. �><<=4?L=O5 ?4D4<5FDO FD4=ED>D<4F>D4: <>M=>EFL, 
=4?DO65=<5 < F>>< >5<>F>>. �>F5D< M=5D7<< < ��� FD4=ED>D<4F>D4. &<?O 
FD4=ED>D<4F>D>6 < <E ?D<<5=5=<5: FD5ED47=O5, <=>7>>5<>F>G=O5, <7<5D<F5?L=O5, 
46F>FD4=ED>D<4F>DO. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�D4>F<G5E>>5 74=OF<5 79. �EE?54>64=<5 D56<<>6 D45>FO >4=>D47=>7> 
FD4=ED>D<4F>D4. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.6 
-?5>FD<G5E><5 
<4L<=O ?5D5<5==>7> 
F>>4 

%>45D64=<5 GG55=>7> <4F5D<4?4 6/4 �� 1 
��2  
�� 4 
�� 2.3 
 

 

�47=4G5=<5 <4L<= ?5D5<5==>7> F>>4 < <E >?4EE<D<>4F<O.  �>?GG5=<5 6D4M4NM57>EO 
<47=<F=>7> ?>?O 6 FD5ED47=OE M?5>FD>46<74F5?OE < 75=5D4F>D4E.  
'EFD>=EF6> M?5>FD<G5E>>= <4L<=O ?5D5<5==>7> F>>4: EF4F>D < 57> >5<>F>4, D>F>D < 57> 
>5<>F>4. �D<=F<? 45=EF6<O FD5ED47=>7> 4E<=ED>==>7> 46<74F5?O. 
 '4EF>F4 6D4M5=<O <47=<F=>7> ?>?O EF4F>D4 < G4EF>F4 6D4M5=<O D>F>D4. �D4M4NM<= 
<><5=F 4E<=ED>==>7> 46<74F5?O. %>>?L65=<5. �GE> 6 E>4 4E<=ED>==OE 46<74F5?5= E 
>>D>F>>74<>=GFO< < D47=O< D>F>D><. 
$45>G<= ?D>F5EE 4E<=ED>==>7> 46<74F5?O < 57> <5E4=<G5E>4O E4D4>F5D<EF<>4. 
$57G?<D>64=<5 G4EF>FO 6D4M5=<O D>F>D4. �4=>D47=O= < 46GED47=O= 4E<=ED>==O= 
M?5>FD>46<74F5?<. �>F5D< M=5D7<< < ��� 4E<=ED>==>7> 46<74F5?O. 
%<=ED>==O5 <4L<=O < >5?4EFL <E ?D<<5=5=<O. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 
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�D4>F<G5E>>5 74=OF<5 710. �EE?54>64=<5 D45>G<E E4D4>F5D<EF<> FD5ED47=>7> 
4E<=ED>==>7> 46<74F5?O E >>D>F>>74<>=GFO< D>F>D><. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.7 
-?5>FD<G5E><5 
<4L<=O ?>EF>O==>7> 
F>>4 

%>45D64=<5 GG55=>7> <4F5D<4?4 4/2 �� 1 
��2  
�� 4 
�� 2.3 
 

 

�47=4G5=<5 <4L<= ?>EF>O==>7> F>>4 < <E >?4EE<D<>4F<O. 
'EFD>=EF6> < ?D<=F<? 45=EF6<O <4L<= ?>EF>O==>7> F>>4: <47=<F=4O F5?L, >>??5>F>D, 
>5<>F>4 O>>DO. $45>G<= ?D>F5EE <4L<=O ?>EF>O==>7> F>>4: -�% >5<>F>< O>>DO, D54>F<O 
O>>DO, >><<GF4F<O. 
�5=5D4F>DO ?>EF>O==>7> F>>4, 46<74F5?< ?>EF>O==>7> F>>4, >5M<5 E6545=<O. 
-?5>FD<G5E><5 <4L<=O E =5746<E<<O< 6>75G645=<5<, E ?4D4??5?L=O<, 
?>E?54>64F5?L=O< < E<5L4==O< 6>75G645=<5<. 
�GE> 6 E>4, D57G?<D>64=<5 G4EF>FO 6D4M5=<O 46<74F5?5= ?>EF>O==>7> F>>4. �>F5D< M=5D7<< 
< ��� <4L<= ?>EF>O==>7> F>>4. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 2 

�45>D4F>D=>5 74=OF<5 76. �EE?54>64=<5 D45>G<E E4D4>F5D<EF<> 46<74F5?5= 
?>EF>O==>7> F>>4 E ?4D4??5?L=O< <?< E<5L4==O< 6>75G645=<5<. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.8 
�E=>6O 
M?5>FD>?D<6>44 

%>45D64=<5 GG55=>7> <4F5D<4?4 2/0 �� 1 
��2  
�� 4 
�� 2.3 
 

 

�>=OF<5 >5 M?5>FD>?D<6>45. 'D46=5=<5 46<65=<O M?5>FD>?D<6>44. �5E4=<G5E><5 
E4D4>F5D<EF<>< =47DG7>G=OE GEFD>=EF6. $4EG5F <>M=>EF< < 6O5>D 46<74F5?O ?D< 
?D>4>?6<F5?L=><, >D4F>>6D5<5==>< < ?>6F>D=> >D4F>>6D5<5==>< D56<<4E. �??4D4FGD4 
4?O G?D46?5=<O M?5>FD>?D<6>4><. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.9 
�5M<5 ?>=OF<O > 
?D><76>4EF65, 
?5D544G<, 
D4E?D545?5=<< < 
?>FD55?5=<< 
M?5>FD<G5E>>= 
M=5D7<<.  

%>45D64=<5 GG55=>7> <4F5D<4?4  4/0  

$4E?D545?5=<5 M?5>FD>M=5D7<<. -?5>FD>E=4565=<5 ?D><OL?5==OE ?D54?D<OF<= < 6<?OE 
744=<=. -?5>FD>E=4565=<5 F5E>6 < >E65F<F5?L=OE M?5>FD>E5F5=. 
�O5>D E5G5=<= ?D>6>4>6 < >455?5= M?5>FD<G5E>>= E5F<. �4M<F=>5 7475<?5=<5. �4M<F=>5 
74=G?5=<5. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  
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$4745? 3. -?5>FD>=<>4 < D44<>M?5>FD>=<>4 33/16  

&5<4 3.1 
�>?G?D>6>4=<>>6O5 
?D<5>DO. 

%>45D64=<5 GG55=>7> <4F5D<4?4 5/2 �� 1 
�� 2  
�� 4 
�� 2.3 
 

 

-?5>FD>?D>6>4=>EFL ?>?G?D>6>4=<>>6. 
�>?G?D>6>4=<>>6O5 ?D<5>DO: 4<>4O, 5<?>?OD=O5 FD4=7<EF>DO, G=<?>?OD=O5 (?>?56O5) 
FD4=7<EF>DO: D<7<G5E><5 ?D>F5EEO, EE5<O 6>?NG5=<O, ?4D4<5FDO < E4D4>F5D<EF<><. 
�=F57D4?L=O5 EE5<O. 

3 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 2 

�45>D4F>D=>5 74=OF<5 77. �EE?54>64=<5 6E>4=OE < 6OE>4=OE E4D4>F5D<EF<> 
5<?>?OD=>7> FD4=7<EF>D4 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 3.2 
-?5>FD>64>GG<=O5 
?D<5>DO 

%>45D64=<5 GG55=>7> <4F5D<4?4 2/0 �� 1 
��2  
�� 4 
�� 2.3 
 

 

�?4EE<D<>4F<O, =47=4G5=<5, <4D><D>6>4, GEFD>=EF6> < ?D<=F<? D45>FO M?5>FD>64>GG<=OE 
M?5>FD>==OE ?D<5>D>6. �E=>6=O5 E6545=<O >5 M?5>FD>==OE ?D>F5EE4E, M?5>FD>==4O 
M<<EE<O. -?5>FD>==>?GG564O FDG5>4, 55 GEFD>=EF6> < ?D<=F<? 45=EF6<O. -?5>FD>==O= 
>EF<??>7D4D. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 3.3   
-?5>FD>==O5 
6O?DO<<F5?< < 
EF45<?<74F>DO. 

%>45D64=<5 GG55=>7> <4F5D<4?4 6/2 �� 1 
��2  
�� 4 
�� 2.3 
 

 

�E=>6=O5 ?4D4<5FDO 6O?DO<<F5?5=. �D<=F<? D45>FO < EE5<4 >4=>?>?G?5D<>4=>7>, 
46GE?>?G?5D<>4=>7> < FD5ED47=>7> 6O?DO<<F5?5=. �>MDD<F<5=F 6O?DO<?5=<O EE5<O. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 2 

�45>D4F>D=>5 74=OF<5 78. �EE?54>64=<5 6E>4=>7> =4?DO65=<O >4=>?>?G?5D<>4=>7> 
6O?DO<<F5?O E ?><>MLN >EF<??>7D4D4. 

2 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 3.4   
-?5>FD>==O5 
GE<?<F5?<.   

%>45D64=<5 GG55=>7> <4F5D<4?4 8/4  

�E=>6=O5 ?>>474F5?< < EE5<O GE<?<F5?5= M?5>FD<G5E><E E<7=4?>6. �D<=F<? D45>FO 
GE<?<F5?O =<7>>= G4EF>FO =4 5<?>?OD=>< FD4=7<EF>D5. �=>7>>4E>44=O5 GE<?<F5?<, 
>5D4F=4O E6O7L < F5<?5D4FGD=4O EF45<?<74F<O D56<<4 D45>FO GE<?<F5?O. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�45>D4F>D=>5 74=OF<5 79. �EE?54>64=<5 4<??<FG4=>= E4D4>F5D<EF<>< <=65DF<DGNM57> 
< =5<=65DF<DGNM57> GE<?<F5?O. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  
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&5<4 3.5 
-?5>FD>==O5 
75=5D4F>DO 

%>45D64=<5 GG55=>7> <4F5D<4?4 6/4 �� 1 
��2  
�� 4 
�� 2.3 
 

 

�>?554F5?L=O= >>=FGD. %FDG>FGD=4O EE5<4 M?5>FD>==>7> 75=5D4F>D4. �5=5D4F>DO 
E<=GE><44?L=OE >>?554=<= LC-  < RC- F<?4. �<?G?LE=O5 75=5D4F>DO. �D<=F<?O < EE5<O 
?>?GG5=<O <<?G?LE=OE E<7=4?>6  
D47?<G=OE >>=D<7GD4F<=. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�45>D4F>D=>5 74=OF<5 710. �EE?54>64=<5 D>D<O 6OE>4=>7> E<7=4?4 M?5>FD>==OE 
75=5D4F>D>6. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 3.6 
-?5>FD>==O5 
GEFD>=EF64 
46F><4F<>< < 
6OG<E?<F5?L=>= 
F5E=<>< 

%>45D64=<5 GG55=>7> <4F5D<4?4 6/4 �� 1 
��2  
�� 4 
�� 2.3 
 

 

%FDG>FGD4 E<EF5<O 46F><4F<G5E>>7> >>=FD>?O, G?D46?5=<O < D57G?<D>64=<O. 
�7<5D<F5?L=O5 ?D5>5D47>64F5?<. �7<5D5=<5 =5M?5>FD<G5E><E 65?<G<= M?5>FD<G5E><<< 
<5F>44<<. �4D4<5FD<G5E><5 ?D5>5D47>64F5?<: D57<EF<6=O5, <=4G>F<6=O5, 5<>>EF=O5. 
�5=5D4F>D=O5 ?D5>5D47>64F5?<. �D<=F<?O ?D5>5D47>64=<O E<7=4?>6 6 F<DD>6>= >>4. 
'EFD>=EF6> 6O5>D>< 3ED4=5=<O. �D5>5D47>64F5?L ?>E?54>64F5?L=>7> EG5F4. 
�D5>5D47>64F5?L EG<FO64NM57> F<?4. �=4?>7>6>-F<DD>6O5 ?D5>5D47>64F5?<. 
-?5>FD>==O5 EFD5?>G=O5 < F<DD>6O5 6>?LF<5FDO. 
�E?>?=<F5?L=O5 M?5<5=FO: M?5>FD><47=<FO; M?5>FD>46<74F5?< ?>EF>O==>7> < 
?5D5<5==>7> F>>>6, L47>6O5 M?5>FD>46<74F5?<. 
-?5>FD><47=<F=>5 < D5DD> <47=<F=>5 D5?5. 
�E=>6=O5 ?>7<G5E><5 >?5D4F<< < <E E<EF5<=GN D54?<74F<N. �>7<G5E><5 M?5<5=FO. 

2 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�45>D4F>D=>5 74=OF<5 711. �EE?54>64=<5 EE5<O F<DD>6>7> 4=4?>7>6>7> 
?D5>5D47>64F5?O E <4FD<F5= D57<EF>D>6. �EE?54>64=<5 EE5<O 4=4?>7>6>-F<DD>6>7> 
?D5>5D47>64F5?O. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO.  
�%���  125  
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3. '%����/ $������&�� ''����� ��%&�����/ 
 
3.1. &D55>64=<O > <<=<<4?L=><G <4F5D<4?L=>-F5E=<G5E>><G 
>55E?5G5=<N 
$54?<74F<O GG55=>= 4<EF<??<=O FD55G5F =4?<G<O GG55=>= ?45>D4F>D<< 

M?5>FD>F5E=<>< < M?5>FD>=<><. 
�5>DG4>64=<5 ?45>D4F>D<< < D45>G<E <5EF ?45>D4F>D<<: 
- ?>E44>G=O5 <5EF4 ?> >>?<G5EF6G >5GG4NM<EEO; 
- D45>G55 <5EF> ?D5?>4464F5?O; 
- >><??5>F GG55=>-=47?O4=OE ?>E>5<= ?> M?5>FD>F5E=<>5 < M?5>FD>=<>5; 
&5E=<G5E><5 ED54EF64 >5GG5=<O:  
- >><??5>F >5>DG4>64=<O ?45>D4F>D=OE EF5=4>6 4?O GG55=>= ?45>D4F>D<< 

M?5>FD>F5E=<>< < M?5>FD>=<><, 6 F>< G<E?5: 
1. <EE?54>64=<5 4E<=ED>==OE <4L<=,  
2. <EE?54>64=<5 <4L<= ?>EF>O==>7> F>>4,  
3. >4=>D47=O5 < FD5ED47=O5 FD4=ED>D<4F>DO, 
4. >E=>6O F<DD>6>= F5E=<><, 
5. <7<5D5=<5 M?5>FD<G5E><E 65?<G<=, 
6. <EE?54>64=<5 >4=>D47=OE < FD5ED47=OE F5?5= ?5D5<5==>7> F>>4. 
7. M?5>FD<G5E><5 F5?< ?>EF>O==>7> F>>4. 
�G?LF<<54<==>5 >E=4M5=<5 ?45>D4F>D<<, <G?LF<<54<==O= ?D>5>F>D, 

<G?LF<<54<4 M>D4=, 4>E>4 4?O ??4>4F>6. 
�45>D4F>D=4O <555?L: EF>?O, EFG?LO 4?O EFG45=F>6 3 15 >><??5>F>6; D45>G55 

<5EF> (EF>?, >D5E?>) 4?O ?D5?>4464F5?O  1 LF. 
 

3.2. �=D>D<4F<>==>5 >55E?5G5=<5 >5GG5=<O 
�5D5G5=L GG55=OE <744=<=, �=F5D=5F-D5EGDE>6, 4>?>?=<F5?L=>= 
?<F5D4FGDO 
 

'G55=>-<5F>4<G5E>>5 < <=D>D<4F<>==>5 >55E?5G5=<5  
4) >E=>6=4O ?<F5D4FGD4: 

7 
?/? 

�EF>G=<> 

1 �G7>6><=, �. �.  -?5>FD>F5E=<>4 < M?5>FD>=<>4 : GG55=<> 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �G7>6><=, �. �. $<?4F>6. 4 �>E>64 : 
�744F5?LEF6> .D4=F, 2024. 4 433 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 
978-5-534-17711-4. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F 
[E4=F]. 4 URL: https://urait.ru/bcode/537125  

2 �>F4?>6, �. �.  &5>D5F<G5E><5 >E=>6O M?5>FD>F5E=<><. %5>D=<> 7444G : GG55=>5 
?>E>5<5 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �>F4?>6. 4 2-5 <74., 
<E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 245 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-09581-4. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O 
??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/517333  

3 
 

�>=44DL, �. �. -?5>FD>F5E=<>4 < >E=>6O M?5>FD>=<>< 6 ?D<<5D4E < 7444G4E : 
GG55=>5 ?>E>5<5 4?O E?> / �. �. �>=44DL. 4 2-5 <74., EF5D. 4 %4=>F-�5F5D5GD7 : 
�4=L, 2024. 4 388 E. 4 ISBN 978-5-507-47554-4. 4 &5>EF : M?5>FD>==O= // �4=L : 
M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: https://e.lanbook.com/book/388973  
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5) 4>?>?=<F5?L=4O ?<F5D4FGD4 
7 
?/? 

�EF>G=<> 

1 
 

�<?5=<=4, %. �.  -?5>FD>=<>4 < EE5<>F5E=<>4 : GG55=<> < ?D4>F<>G< 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / %. �. �<?5=<=4 ; ?>4 D544>F<5= �. �. �<?5=<=4. 
4 2-5 <74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2024. 4 270 E. 4 
(�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-06085-0. 4 &5>EF : 
M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 
https://urait.ru/bcode/538843  

2 �?<56, �. �.  -?5>FD>F5E=<>4 < M?5>FD>>5>DG4>64=<5: 547>6O5 >E=>6O : GG55=>5 
?>E>5<5 4?O ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �?<56. 4 5-5 <74., 
<E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2024. 4 291 E. 4 (�D>D5EE<>=4?L=>5 
>5D47>64=<5). 4 ISBN 978-5-534-04256-6. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O 
??4FD>D<4 .D4=F [E4=F]. 4 URL: https://urait.ru/bcode/539388. 

6)  ?5D<>4<G5E><5 <744=<O: 
7 
?/? 

�EF>G=<> 

1 -���&$�&�%����: %�&���� -���&$���/� ��''�/� �'$��� / $44<>=>6 
�=4D5= �?5>E4=4D>6<G.  - �47=<F>7>DE>: 2014, 4 . 4 �OE>4<F 4 D474 6 7>4. ¬ 3 IS�N 
>=?4==>6>= 65DE<< 2313-8742. 3 &5>EF : M?5>FD>==O=  // -�% elibrary [E4=F]. 4 URL : 
https://elibrary.ru/contents.asp?id=36855540  

2 $44<>F5E=<>4 < M?5>FD>=<>4 : =4GG. 6GD=4?.  / GGD54<F5?L  <=EF<FGF D44<>F5E=<>< < 
M?5>FD>=<>< <<. �.�.�>F5?L=<>>64, $��.  3 �>E>64 : �>445<<O =4G>  4 . 4 1952. 4  
�OE>4<F 12  D47 6 7>4. 4 IS�N ?5G4F=>= 65DE<<: 0033-8494. 3 &5>EF : M?5>FD>==O=  // 
-�% elibrary [E4=F]. 4 URL : https://elibrary.ru/contents.asp?id=44596077  

7) <=D>D<4F<>==O5 6) <=D>D<4F<>==O5 M?5>FD>==>->5D47>64F5?L=O5 D5EGDEO: 
7 
?/? 

�EF>G=<> 

     1 -?5>FD>==4O 5<5?<>F5G=4O E<EF5<4 «�<5?<>&5E. �744F5?LEF6> ��'»    
https://mgri-rggru.bibliotech.ru 

2 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «�744F5?LEF6> �4=L»/ >>??. �=65=5D=>-
F5E=<G5E><5 =4G>< (&N<�')  www.e.lanbook.com 

3 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 elibrary» / �D46>>5?444F5?L: �5M5EF6> E 
>7D4=<G5==>= >F65FEF65==>EFLN «$'�-�» (RU) 
 https://elibrary.ru 

4 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «-�% .$��&» / www.urait.ru 

 
 
4. ���&$��, � �&���� $��'�,&�&�� �%�����/ ''����� 
��%&�����/ 
 �>=FD>?L < >F5=>4 D57G?LF4F>6 >E6>5=<O GG55=>= 4<EF<??<=O 
>EGM5EF6?O5FEO ?D5?>4464F5?5< 6 ?D>F5EE5 ?D>6545=<O ?D4>F<G5E><E 
74=OF<=, F5EF<D>64=<O, D5L5=<O E<FG4F<>==OE 7444G. 

$57G?LF4FO >5GG5=<O �D<F5D<< >F5=>< �5F>4O 
>F5=>< 

�=4=<O: 
- >?4EE<D<>4F<N M?5>FD>==OE ?D<5>D>6,  
<E GEFD>=EF6> < >5?4EFL ?D<<5=5=<O;  
- <5F>4O D4EG5F4 < <7<5D5=<O >E=>6=OE 
?4D4<5FD>6 M?5>FD<G5E><E F5?5=;  

'E?5L=>EFL >E6>5=<O 7=4=<= 
E>>F65FEF6G5F 6O?>?=5=<N 
E?54GNM<E FD55>64=<=: 
- >5GG4NM<=EO E6>5>4=> 
6?4455F F5>D5F<G5E><< 

&5EF<D>64=<5, 
DD>=F4?L=O= 
>?D>E, D5L5=<5 
E<FG4F<>==OE 
7444G.  
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 - >E=>6=O5 74>>=O M?5>FD>F5E=<><;  
 - >E=>6=O5 ?D46<?4 M>E??G4F4F<< 
M?5>FD>>5>DG4>64=<O < <5F>4O 
<7<5D5=<O M?5>FD<G5E><E 65?<G<=; 
- >E=>6O F5>D<< M?5>FD<G5E><E <4L<=, 
?D<=F<? D45>FO F<?>6OE M?5>FD<G5E><E 
GEFD>=EF6;  
- ?4D4<5FDO M?5>FD<G5E><E EE5< < 
54<=<FO <E <7<5D5=<O;  
- ?D<=F<? 6O5>D4 M?5>FD<G5E><E < 
M?5>FD>==OE ?D<5>D>6;  
- ?D<=F<?O E>EF46?5=<O ?D>EFOE 
M?5>FD<G5E><E < M?5>FD>==OE F5?5=;  
- E?>E>5O ?>?GG5=<O, ?5D544G< < 
<E?>?L7>64=<O M?5>FD<G5E>>= M=5D7<<;  
- GEFD>=EF6>, ?D<=F<? 45=EF6<O < 
>E=>6=O5 E4D4>F5D<EF<>< 
M?5>FD>F5E=<G5E><E ?D<5>D>6;  
- >E=>6O D<7<G5E><E ?D>F5EE>6 6 
?D>6>4=<>4E, ?>?G?D>6>4=<>4E < 
4<M?5>FD<>4E;  
- E4D4>F5D<EF<>< < ?4D4<5FDO 
M?5>FD<G5E><E < <47=<F=OE ?>?5=, 
?4D4<5FDO D47?<G=OE M?5>FD<G5E><E F5?5=. 

<4F5D<4?><, 557 74FDG4=5=<= 
<7?4745F 57> < <E?>?L7G5F =4 
?D4>F<>5,  
7=45F >5>DG4>64=<5; 
- ?D46<?L=> 6O?>?=O5F 
F5E=>?>7<G5E><5 >?5D4F<<; 
- 6?4455F ?D<5<4<< 
E4<>>>=FD>?O; 
- E>5?N445F ?D46<?4 
557>?4E=>EF<. 
 

&5>GM<= 
>>=FD>?L 6 
D>D<5 74M<FO 
?D4>F<G5E><E < 
?45>D4F>D=OE 
D45>F. 
&5E=<G5E><5 
4<>F4=FO. 

'<5=<O: 
- 6O5<D4FL M?5>FD<G5E><5,  M?5>FD>==O5 
?D<5>DO <  M?5>FD>>5>DG4>64=<5;  
- ?D46<?L=> M>E??G4F<D>64FL 
M?5>FD>>5>DG4>64=<5 < <5E4=<7<O 
?5D544G< 46<65=<O F5E=>?>7<G5E><E 
<4L<= < 4??4D4F>6;  
- ?D><76>4<FL D4EG5FO ?D>EFOE 
M?5>FD<G5E><E F5?5=;  
- D4EEG<FO64FL ?4D4<5FDOD47?<G=OE 
M?5>FD<G5E><E F5?5= < EE5<;  
- E=<<4FL ?>>474=<O < ?>?L7>64FLEO 
M?5>FD><7<5D<F5?L=O<< ?D<5>D4<< < 
?D<E?>E>5?5=<O<<;  
 

'E?5L=>EFL >E6>5=<O G<5=<= 
< G<5=<= E>>F65FEF6G5F 
6O?>?=5=<N E?54GNM<E 
FD55>64=<=: 
- >5GG4NM<=EO G<55F 7>F>6<FL 
>5>DG4>64=<5 > D45>F5  
6O?>?=OFL ?45>D4F>D=O5 < 
?D4>F<G5E><5 D45>FO 6 
E>>F65FEF6<< E <5F>4<G5E><<< 
G>474=<O<< > =<<; 
- ?D46<?L=> >D74=<7>6O64FL 
E6>5 D45>G55 <5EF> < 
?>445D6<64FL 57> 6 ?>DO4>5 =4 
?D>FO65=<< 6O?>?=O5<>= 
?45>D4F>D=>= D45>FO; 
- G<55F E4<>EF>OF5?L=> 
?>?L7>64FLEO E?D46>G=>= 
?<F5D4FGD>= 

�F5=>4 
D57G?LF4F>6 
6O?>?=5=<O 
?D4>F<G5E><E < 
?45>D4F>D=OE 
D45>F. 

 
 


